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A(112) in y=mx+t: 2=- ~·l+t -+ t=2,5 -+ g: y = - ~x + 2,5

~ ~

1.2 P symmetrisch zu x=2 -+ Nullstellen xl=5 und x2=-1

-+ Ansatz Faktorform: y= a(x-5)(x+1)
1

A(112) einsetzen: 2=a(1-5)(1+1) -+ 2=-8a -+ a=-4

1-+ p(x) = - 4(x-5)(x+1)

1.3 xs=2 ys=p(2)=2,25 5(212,25)
p(-2)=p(6)= -1,75

2. 0,2x4-O,2x3-X2+X = 0
0,2X(X3-x2-5x+5) = 0

2ll=0 Probieren (oder Wertetab.):!~=1

(X3-x2-5x+5): (x-1) = x2-5

=.{x3-x21
-------- - 5x+5 !~="I'5 !4=-,l'5-- -2

=.{-5x+51
-3
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Aus Skizze: 0<0 für -4<k<4

3.2 z.B. xs=k -+ a=-5 und b=3

1 2- -x +kx -8=0
'J...
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3.1. -:;x +kx -2=6 -+
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